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QUESTION 1
Which two statements are true of 1S-IS? (Choose two.)

A. When configured on a broadcast segment, IS-IS elects a designated intermediate system that establishes
adjacencies with all IS-IS enabled nodes on the segment.

B. When configured on a broadcast segment, 1S-IS forms a full mesh of adjacencies called a mesh group; unlike OSPF,
no designated device exists to represent the segment.

C. When configured on a broadcast segment, I1S-IS elects a backup designated intermediate system.
D. When configured on a broadcast segment, the network itself is called a pseudo-node

Correct Answer: AD

QUESTION 2

Which two statements are correct about redundant trunk groups on EX Series switches? (Choose two.)
A. If the active link fails, then the secondary link automatically takes over.

B. Layer 2 control traffic is permitted on the secondary link.

C. Redundant trunk groups load balance traffic across two designated uplink interfaces.

D. Redundant trunk groups use spanning tree to provide loop-free redundant uplinks.

Correct Answer:. AB

QUESTION 3

-- Exhibit ?
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3ridge Table

MAC Address Interface

D0:26:88:02:74:80 ge-0/u/fs

00:26:88:02:74:87 g=-0/0/4

00:26:88:02:74:88 ge-0/0/3

00:26:88:02:74:89 ge-0/0/5

UserA & Hub I UserD
MAC: 00:26:88:02:74:86 r;l st | ) eormeeni | | MAC:00:26:88:02:74:85

ge-0/0/5

userd
MAC: 00:26:88:02.74.87

Usere
MMAC:00:26:88:02:74:88

-- Exhibit -User B is sending traffic to the destination MAC address of 00:26:88:02:74:89.
Referring to the exhibit, which statement is true?

A. All users will receive the traffic.

B. Only User A will receive the traffic.

C. Only User D will receive the traffic.

D. Both Users A and D will receive the traffic.

Correct Answer: D

QUESTION 4

What are two characteristics of a switched LAN? (Choose two.)
A. All devices are part of the same collision domain.

B. Each device participates in its own collision domain.

C. All traffic is flooded out to all devices.

D. Traffic is intelligently forwarded to learned destinations.

Correct Answer: BD
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QUESTION 5

You review the current LSA database and you suspect that your LSA database contains stale or invalid database
entries. You need to verify that your router is receiving LSAs from other routers in your network.

Which action would you take to correct this problem?
A. Purge the LSDB.

B. Increase the max-age attribute for the LSDB.

C. Decrease the max-age attribute for the LSDB.

D. Disable and enable the interfaces.

Correct Answer: A

QUESTION 6

N NO: 212

You attach six routers (R1, R2, R3, R4, R5, and R6) to a single Ethernet LAN and configure the routers with addresses
in the same subnet. You do not modify the default priority of any router. R1 is chosen as the designated router and R2 is
chosen as the backup designated router. How many full adjacencies does R3 have?

A0

B.1

C.2

D.5

Correct Answer: C

QUESTION 7

Which set of BGP attributes is preferred by the Junos OS?

A. MED. 100 AS path: 65512 65512 65512 Local preferencE. 100 Origin: |
B. MED. 50 AS path: 65512 65512 65512 Local preferencE. 50 Origin: E
C. MED. 100 AS path: 65512 65512 65512 65512

Local preferenckE. 100

Origin: |

D. MED. 50 AS path: 65512 65512 65512 Local preferencE. 100 Origin: E

Correct Answer: A
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QUESTION 8

Your customer wants to connect a VolP phone to interface ge-0/0/5 on an EX4200 switch in VLAN 20 and connect a PC
to the VolIP phone. The PC should be part of VLAN 30.

Which two commands will implement this solution? (Choose two.)
A. set interface ge-0/0/5.0 family ethernet-switching vlan members vian-30
B. set ethernet-switching-options voip interface ge-0/0/5.0 vlan 20
C. set interface ge-0/0/5.0 family ethernet-switching vlan members vlan-20
D. set ethernet-switching-options voip interface ge-0/0/5.0 vlan 30

Correct Answer: AB

QUESTION 9

Which configuration is used to send and receive untagged packets through a trunk port?
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A [edit interfaces ge-0/0/4]
unit 10 |
family schernec-mwicching |
port-modle access:
nacive-ylan-id 100;

:

B [edit interfaces ge-0/0/4]
anit 10 |
family echernec-swicching |
port-mode trunk:
native-vian-i1d 100:

}

- [edit interfaces ge-0/0/4]
anitc 10 |
Tamily echernec-awicching |
port-mode access:

I

cD [edit interfaces ge-0/0/4]
vian-tagging;
unit 10 {
family ecthernec-awitching |
porc-modes Tounk:
nacive-vlian-id 100;

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 10

Which two fields in an OSPF hello packet must match before OSPF neighbors can form an adjacency? (Choose two.)
A. dead interval

B. neighbor

C. options
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D. router priority

Correct Answer: AC

QUESTION 11

You have altered the factory-default storm control configuration so that interfaces on which the storm control level is
exceeded are temporarily shut down for five minutes. Which two methods can you use to monitor that the auto recovery
feature is working? (Choose two.)

A. Issue the monitor traffic violations command.

B. Issue the monitor start messages command.

C. Issue the show storm-control violations command.

D. Issue the show ethernet-switching interfaces command.

Correct Answer: BD

QUESTION 12

What are two characteristics of a shared LAN? (Choose two.)
A. All devices are part of the same collision domain.

B. Each device patrticipates in its own collision domain.

C. All traffic is flooded out to all devices.

D. Traffic is intelligently forwarded to learned destinations.

Correct Answer: AC

QUESTION 13

Which three statements are true of GRE tunnels? (Choose three.)

A. The local tunnel endpoint must have a valid route to the remote endpoint.
B. GRE tunnels must authenticate at both ends of the tunnel.

C. Tunnel endpoints must have a route that directs traffic into a tunnel.

D. The "gr" interface can only route packets that are IP protocol packets.

E. All intermediary devices must have a route to the tunnel endpoints.

Correct Answer: ACE
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QUESTION 14

When analyzing BGP packets, you notice that specific path attributes are always present.
Which two attributes are seen in every update packet? (Choose two.)

A. AS path

B. local preference

C. origin

D. originator ID

Correct Answer: AC

QUESTION 15

Referring to the exhibit, which statement is true?

M\ Exhibit 3

R1 (RID: 1.1.1.1) % R2 (RID: 1.1.1.2)

%9 R4 (RID: 1.1.1.4)

R3 (RID: 1.1.1.3) e

A. R4 is elected as the DR

B. R3 and R4 have and adjacency state of Full
C. R1 and R2 are elected as DROthers

D. R3 has the complete OSPF database

Correct Answer: D
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